5. U ARy 70 L2 F AU 2 — Rr AR TR AX + XA = X U ZR
(1) ANTERRE BI{EE %o, (73 A™ = 0,

(2) AHFTHICREANL;

(3) AREHE 4 188

(4) A FFATHFERLIBLA N T

HERR (1) BiEA™ = 0.8 TR RIX = 0,31V JE XM 4 [F B /2 e A3 A X + Am1XA =
A"IX BIA™ T X(A — 1) = 0,1 TARE A — Ir] (i T AR AEAE 5 80). A A1 X = 0,[A]
X AL = Q.

RPN BRIMIMNATX =0, XA =0 TA" 1 X =0, XA™ ! = 0, HRBHm — 11Em, 5
FJAMTZX =0, X A™ 2 = 0 AWHIXHFE N 5 A X = 0. (0] DL F IR 98%)

(2) AP TR BN A FERE A R IE AT AX + XA = XATDRE N : XN ITRSE
THPAE AT S TER S TT R AL T2 BATEX R e s ek, — i, g5 T X hira o s
(A0, 55— 5T, B AT X T TCER InAl (REAT RSN 1 nik). IR X A TR AN D50, 7 [ 7E X
AT R X I AT O I8 A AN AAE TR AT AN _E X R A e ER AL BLX R R AT A
N0 B FI R FIE 0. 8 R X R A e 3R & T H T EAT 5 TESIR TR M AR E1X = 0.

(3) HIARVRAEAE 4 % B AR i/ 2 T4 9 AR ﬂAEﬁBwJ\%Iﬁﬁjo i), Ha; AT LAARTA.
1=1
HAX + XA = X B3(A - ap )X + X(A—ap) = (1 —2a,)X 75%1‘[ — a;1),13%)

(A—ar)X l:Il(A—aiI) =(1—-2a)X l:Il(A—aiI) = (A+ (o — 1)) X l:Il(A—aiI) =0

=1 i=1 =1
T E1F— 0y — 1) %5 B J AR GE M0 TTA + (a — DI X [[(A — ail) — 084
=1

Hh ﬁ(A — ai1)> X = 0, ZXFRATMLE T “WE” T(A - apd),BARBAT L “WE” (A -

ap 1), R T JEAELX — 0. (H7T LAB o — U 0/ G2 A7 49)
(@ﬂ%%iﬂ%@%ﬁ%ﬁm%%$%ﬁﬁﬁﬁ@—%VﬂmTuﬁH%EM<—

1=1
HAX + XA = XB3(A - 20X + X(A— 1) = (1—22)X, ﬂﬁaﬂfﬁ]‘[ — 2 1),153)

i=1

fzkIXH — 1 1f22kXH —z]) = (A+ (2 — DI XH —zI)=0

IR, (1 — 2] > = IIHZTE%?Eﬁ MIMTA + (2, — 1) TN T B EM EIE @ 2. O
i 3\77?@%%(2)@5‘]*@%% “ARE AHIUE L ILRUR G0 R R X AT 2B j AN TR N T

n

Tij = Z(ﬂﬁzk + ;) (1)

k=1



)IIED 3 9 WEIRTHELS 9) P
i=1 j=1 i=1 j=1 k=1 i=1 j=1
ES):
in]‘ =0
j=1
PR (1),
Zl’ij = ZZ(.T,L]C +l’k]) = HZI‘U + sz” = anij
i=1 i=1 k=1 i=1 i=1 j=1 i=1

AIIRHEREF, Y @iy = 0, [FH WHER, Y i = 0,8 d1(1) K, Hay; = 0,FILX = 0.
i=1

Jj=1



